7l 2R 5 3 (F155KER)

B fmEARZ D1
= oy fEAR
e R (1B RI= D)
E7/ 15 440M
ILYR—> 18 440M
F1R—F—51k 1 890
F1H AR L3VTAF
F2R—F—354k
F2H AR L3V TAF
RYJ RS AR
=554k
20U SRR O3 UTMF
AT—URRYRS Ak 18 40M
ARy 1K 80M
EFx+7alzos— 18 440M
CD7L—¥— 18 220M
CD-MD7L—¥—a R 16 220/
JIL—LALa—45— 18 220M
ARo)—> 1m 70
RER 1 520
=ZR/AYTALY 1 440M
IhEEE 18 220
RE—ILILFEEE 1= 520
AT—URE—H— 1 130M
[FHaiRY RE—H— 1= 50M
EEES 18 20M
EEEEREES 18 20M
mEE 18 1073
& 148 30M
KER—ILEEER 16 130
B mERM D2
i e (1%23))
=2 (RHREE) 18 1,000
=2 (REE) 16 2,000
5%

1 FRIZK. BRERVFEREZET,
2 Kik—ILEBERICE, AIREBRUVERZET,
3 ERARFMEICTRMREDmBNECT-ES(E, BRI 1R EATT




